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O&&EY HE Ha M 20,000
405 TtHobF S| 23,500 2,300 21,200
01 AL ESFHSHI 23,500 2,300 21,200
O3s8xZ WM (MIIsSA) 22,000
Oz wi 500
OFUAE A& & X 2 1,000
FTA OS2I 22,500 7,050 15,450
201 et 3,000 3,000 0
03 &Ar2 Z I 3,000 3,000 0
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Al 105,000

101 @124 dl 27,000 25,700 1,300
= 13,500
< 4,050
Al 9,450
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O7s - HE &ER(1Y) 27,000
= 13,500
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Al 9,450
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01 At 2teltl 71,900 54,700 17,200
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—AsHE 23 3,300
- 1,650
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—AsHE EES & IH0IES MH 13,000
= 6,500
< 1,950
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—HAsHE A 22 40,000
= 20,000
= 6,000
Al 14,000
—AsHE SUHEI 29 10,000
= 5,000
< 1,500
Al 3,500
—AsHE SHOIX 2 4,000
= 2,000
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—3EE NYEE HMSMEA XA 1,000
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o= 1,500
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OAsAHEL AEISEN 2,000
= 1,000
== 300
Al 700
202 04 d| 5,600 5,600 0
= 2,800
= 840
Al 1,960
01 2L Y| 5,600 5,600 0
OZANUSERA AIE =X 5,600
= 2,800
o= 840
Al 1,960
301 et M= 148,500 87,000 61,500
= 74,250
& 22,275
Al 51,975
09 #HAIAHI XIS 2 4,500 0 4,500
OAsHE SX A EAX 300, 000& *53] 1,500
= 750
== 225
Al 525
OH=sE2s H&X AE 3,000
= 1,500
o= 450
Al 1,050
12 JIEt2 & =2 144,000 87,000 57,000
OAs s X 20,000
= 10,000
== 3,000
Al 7,000
OAsHE & IR XN 10,000
= 5,000
o= 1,500
Al 3,500
OAsAHEL OlAHHl X & 20,000
= 10,000
& 3,000
Al 7,000
OA=s0 ded XA 4,000,000 *10&! 40,000
= 20,000
o= 6,000
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Al 14,000
OsZ=0lA 012 &0ot27] 44,000
= 22,000
< 6,600
Al 15,400
OFsHELY & X& 10,000
= 5,000
< 1,500
Al 3,500
307 glz2tol & 35,000 65,000 A 30,000
= 17,500
< 5,250
Al 12,250
02 It M AHE X 35,000 65,000 A 30,000
OFs - AEQ NAZO EHHA
500,000& »222t = 11,000
= 5,500
< 1,650
Al 3,850
OitSce otite 83tu= 12,000
= 6,000
< 1,800
Al 4,200
OA=sHELR s0tel X 12,000
= 6,000
= 1,800
Al 4,200
HsHE EFXA 7,500 10,800 A 3,300
< 2,250
Al 5,250
307 gl2tol & 7,500 10,800 A 3,300
< 2,250
Al 5,250
02 IZHE M AHE L 7,500 10,800 A 3,300
OF=se &8 I (FHXY) 7,500
< 2,250
Al 5,250
Hs=sHEL X 2435t 77,200 12,000 65,200
201 LBt 65,200 0 65,200
01 At 22l 65,200 0 65,200
OFsHE 24 M 60,000
osgsg
AR FA=E 100,000& «13H *42] 5,200
301 LeIEBAF 12,000 12,000 0
09 SALEHIX A S 12,000 12,000 0
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101 124 dl 54,174 53,340 834
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OZANEN HuYs 2X8 54,174
ol =gl 1,914,075 +2 5B+ 1@« 110 & 52,638
J| 52,638
—uegs 1,536,000 » 1H 12 10 & 1,536
J| 1,536
201 Let2d] 20,108 20,108 0
J| 20,108
01 At 22l 20,108 20,108 0
Ogt=&H| 10,238
—BAX=EN 2E MRES 10,238
J| 10,238
o=zg=¢ 9,870
—SAdX=H AAMAEE 9,870
J| 9,870
202 oddl 24,700 24,700 0
J| 24,700
01 = LH &4 1l 24,700 24,700 0
O3AAEHM FAAHI 24,700
J| 24,700
SAA=H 19,770,220 18,977,000 793,220
J| 19,770,220
301 LeEAF 19,770,220 18,977,000 793,220
J| 19,770,220
12JIE243 19,770,220 18,977,000 793,220
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< 2,000
301 LPEAZ 64,900 64,900 0
< 19,470
Al 45,430
12 JIEE4 3 64,900 64,900 0
OZdg 3948 A=H(Z & sIt) 64,900
< 19,470
Al 45,430
307 21201 A 55,000 63,000 A 8,000
< 16,500
Al 38,500
02 IS AHE L 55,000 63,000 A 8,000
OZdyg 2948 A=H(0t2,&H) 55,000
< 16,500
Al 38,500
e SNDNE-| 20,368 48,000 AN 27,632
307 glz2tol & 20,368 48,000 N 27,632
02 It HAHEE 20,368 48,000 N27,632
O&l &8 =X (8.5ha) 20,368
sy EALE 2,000 2,310 A 310
< 600
Al 1,400
201 L2l 2,000 2,310 A 310
< 600
Al 1,400
01 At 22l 2,000 2,310 A310
Ostdsy &8 ALE (1) 2,000
< 600
Al 1,400
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Al 8,440
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Oget=gH| 8,300
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12 J|IEtE2 A= 600 600 0
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02 BIZEXI2 AL EX(0OIETHH) 300,000 250,000 50,000
ORPC JIZ2AIE HE S 300,000
—MNEsHESXE 300,000, 000& * 14! x50% 150,000
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Al 4,500
01 X2 H| 45,000 45,000 0
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01 AP 22| H| 1,800 1,800 0
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101 21 214| 470,007 472,773 AN2,766
01 = 470,007 472,773 A2,766




M sH
Mz MSAHH (sE )
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OxW22¢ 470,007
— 62 12,1242 x55 A 2+ 128 x 17 136,032
— XN AH(212 2 0l4h)
11,4332 *55A| 2t x 128 2 H 15,092
— XNZAH(20& 2 0ldt)
10,7142 x55A| 2+ 128 x 17 120,212
73 10,952& *55A| 2Fx 128 x13Y 93,969
— 82 9,832& x55A| 2t x 12 x8YH 51,913
- 93 8,887 & x55A| 2t x 128 x9H 52,789
Jl=23tl 124,110 95,604 28,506
Jl23Hl 124,110 95,604 28,506
201 Bt A | 55,068 50,328 4,740
01 AFR2 2t 2l Yl 55,068 50,328 4,740
OFAEY JI=28yl 55,068
— Bt ZH| 9,960
— 2 &l 16,128
— =AY 28,980
202 04| 56,682 34,356 22,326
01 2L Y| 56,682 34,356 22,326
O=2WA bl 56,682
203 PR =&H| 12,360 10,920 1,440
01 J|22HLR=AH| 5,000 4,200 800
OsgllsdHAd 5,000
02 HRJAE R =&Y 3,160 3,120 40
OZX S A & & 40,000& *79H 3,160
04 ENSHLRF=AH| 4,200 3,600 600
OFAEd g4 350,000& x12& 4,200




